HONDA

3% {im B4
GX270

WEAANOA—VHE S
OHVAII TPy

Air-cooled 4-stroke single cylinder
OHV gasoline engine



SR ~FiE (mm)

Dimensions (mm)

428
278 184
160
STDARC 150
_&1
f { ‘vﬁl {
;
| J CONTROL BOX
@ N STARTER MOTOR
: 2 | oo
'/. N\
'i'
CHOKELEVER /.
SPEED CONTROL LEVER
FUEL COCK LEVER
355 (S-TYPE)
165 192
116
50
T o=
888 i
@ o O _—
(R
\g\\\w /./ ) STD AIRIC
EXHAUST PIPE i = ey i/
PROTECTOR \
209.9 ‘ @i
4009 418
\
é !
S =
] = K
N 0000
= ‘ e
1335 K ooao
i >
2} U i
2-1x24(80n 7| o 2— 011 (HOLE)
% a5 OIL DRAIN
575 9%

213 2%
BEBEEBE8B8 DEFLECTOR
s o
/
42 5 |
(GX270UT) | ©
411
(GX70T) _
70
OIL FILLER CAP OIL FILLER CAP
P.D. 165.1 A
©——0 1k
43 05 103
PILOT 0110 PILOT 0146.05%0%
DEPTH 45 105 DEPTH 4
P.D.127 195.5




SR ~FiE (mm)
Dimensions (mm)

CONTROL BOX

134

STARTER MOTOR

SRz ~FiE (mm) BRI T
Dimensions (mm) Reduction Types

907
p 0)
{ g:,, S
N 1
oD%
0 - S ] 4
8 2 Q D"
/ ] ® £
5 AT\ © TN\ 4- M8 x1.25 18Deep ) 2011 (HOLE)
0 681 ] (1 il i Bk us
6- M8 x1.25 18Deep | s | Lij 54 %
1965

‘ L0
| 1955 |
[



PTO>+ 7 hti& (mm)
PTO Shaft Dimensions(mm)

S-Type

1003
7"

cpl  MBx15 =
= g 2 b
= \
S —
< 2
60 92 TOENGINE CENTER
345
63 —
LS
V-Type
022.161.§ s -
TAPER 2 PER FOOT
S ey e—
S 18
. 465 92 TOENGINE CENTER
5 — 24UNF-2BTAP "
P 30 L5
106 45

vl

0.05
o110°

28

0 |
02545005

92

45

TO ENGINE CENTER

345



PTO>+ 7 bsFik(mm) RYA T
PTO Shaft Dimensions(mm) Reduction Types

L-Type R-Type

66.7 1403 70 ENGINE CENTER Jo00
7 +805 s ) 0
g2 ) 345 ;

!

OIS == =t f

34

0
18.5

-0020
0250058
M8 x 1.25

2151

-0.020
’._.'M
. M8 x1.25
(.n
ﬂ.i
I
I

§ 5 1885 TOENGINE CENTER
u5

H-Type
g f312+08 g 144 TOENGINE CENTER
g ﬂﬁ 5
: [ —_
{ _____

80



1%

ELE]

. Yoo RITO)—F— @ EENEIST Y ’
SpeCIﬁcathnS Cyclone air cleaner High inclination
NS ZER42 80 '7$’—Ir‘] . Air-cooled 4-stroke single cylinder
IVIUiER OI:VjJ‘/')/I > Engine type OHV gasoline engine
R )—7 5 Castiron sleeve v
RE 270 cm3 Displacement 270 cm?
PR B Geprtin i) 2.4 L/h@3600 rpm f:ti'dcggf,;,g: cont. 2.4 L/h@3600 rpm
MBI RS 53L Fuel tank capacity 53L
A (@EX2AEX2H) 355 X 428 X 418 mm Dimensions (L x W x H) 355 X 428 X 418 mm
HIgES 25.8 kg Dry weight 25.8 kg
ut
TERERhER
Power Curve
BAEA(xvN)  Max.net power e 6.3 kW (8.4 HP)@3600 rpm (gOmO)f
B ERHE A Continuous rated power e 5.1 kW (6.8 HP)@3600 rpm 17.5F ]
fwmANLY (xvik) Max. nettorque e 19.1 N'-m (1.94 kgf-m)@2500 rpm 15.0-
(kw)
7 (HP)
-9
L~
6F 1 s
17
5 -
16
4+
-5
3L 1a
L | | L1
Q Q Q Q  (rpm)
Q Q Q Q
A A AP P

KIBCRRUEIVPVHAEGSAE J1349(CEMUTRAESNERRHRB IV VOB AETIT . EEI VI OHEAIE. 2O
BEEDZZENDBVET . Tl ICREINTTIRETOREAER IOV EGEHR FRERE. AV T IREPZOMOERHEF
[CEWERLET AR TEEREEFIITCE-TERBVET  Fe . ARSI FELLKEFEITZHENHVET,

AIEDOI/BABF2022F6AREDEDCRVFT,

The power rating of the engine indicated in this document is the net power tested on a production engine for the engine model
and measured in accordance with SAE J1349 at a specified rpm. Mass production engines may vary from this value. Actual power
output for the engine installed in the final machine will vary depending on numerous factors, including the operating speed of
the engine in application, environmental conditions, maintenance, and other variables. Appearance, dimensions and dry weight
vary by type. Specifications are subject to change without notice. The content of this document are valid as of June 2022.

Honda®AEI>
INESRRAVI) YT

T3, (#) BARERRRERRGS O
YOVHIHAZBERFICEELTVET,

GX1)—ZX GX270



